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" The curve indicating complete information

about learning is called :

o & R A Q0 TGN $AT @R drel a5
®! HEl A8

(A) Curve of increasing return (A) qﬁa‘ﬂﬁ ATdF T
(B) Curve of decreasing return (B) ERWM G d
(C) Curve of equal return A
(D) S—Shaped Curve (C) W -
(D) TH—3ATPR dh
2 What is not essential for measurement of T A9 FRA B ford /T awS e B ?
learning ? (A) Rwor & gl &1 ar e
(A) To know tactics of teaching (B) sl & duar S BT
(B) To know validity of examinations (C) et A Rrvawgar S B
(C) To know reliability of examinations Rrera RET arerat
(D) To know acquired skills of the students (D) o I EW B
3. Intelligence tests are used for : gﬁg TR BT WA T i &
(A) Grouping the students in school (A) faermer & et & g fuem & o
(B) Guidance purpose (B) v & oo 3@
(C) Selection purpose (C) T T D WA %@
(D) All of the above D) G‘W{i?ﬁ T
4. Which of the following is not the element of fr=fofed # & a9 @ IEIA gRac DT
‘Stimulus Variation Skill” ? P ad T e ?
(A) Set Induction A) R
(B) Movement EB; L W
(C) Gestures
(D) Change in voice Eg)) Ll Ras
5. Ateacher plans his teaching learning process G Rerd s Reor—siftrm ufthar & g
ke@l;%m;lew: . ; I W9 S v R
(A) e objectives formulate A) Pl m
(B) The human and physical resources EB; T vd AMyE G
(C) Both (A) and (B) ST
(D) None of the above ED)) ! ( 1; “?Hglﬁ) &
6.  How will you mainly develop self-discipline I o el 4 ger AR W e
?Xl)oné your s:ludents ? n fver yaR fasfg st ?
iving them responsibilities A) S7P] IRERIT Y
(B) Telling them rules for good character EB; I IRF B BT AR
(C) Giving punishment : %
(D) Following the rules Eg)) mﬁ s ;
7. Teaching aptitude means : Rveror siffdrgar ¥ arad @
(A) Devotion towards teaching work (A) Rrewr a1t & ufy gedor
(B) Desire to become a teacher (B) Rwid g7 3 3981 W@
(C) All the requisite abilities for profession S ST T
of a teacher © o ;;% ﬁ;ifﬂ;jﬁf
(D) Good rapport with student (D) i
8. From the following, which is the best method fforRad # & el femeft @& armaRe a=mmal
of measurement of a student’s inner feelings ? P 919 P Faroq ufafy s G & ?
(A) Questionnaire (A) TEEe
(B) Interview (B) WEIHR
(C) Sociometry (©) TR
D) Transplantation method
®) P (D) SR fafdy
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9. The cognitive behavioural skill of enabling the 9. HMIcHS FIERIT PIId @ 3ravid fqemedi &
learner, to understand the use of theoretical Agifad FUH1 D STINT BT ardfdd gRRfAE
statements in real situations is called : ¥ gUEe & Qe 99T BEa &

(A) Understanding sadn

(B) Application (A

(C) Analysis (B) g

(D) Synthesis (C) fawermm
(D) HLIwT

10.  While writing on the blackboard, out of the 10. TUMUE W foRad 99y, 38R & AR I8 F
following options, what will you specially keep ® fordr amu frg 919 &7 9w e <& ?
in mind to decide about the size of letters. (A) WHUE T faiial & mea @

(A) Distance between blackboard and students (B) WM T Rrre & T iﬁ
(B) Distance between blackboard and teacher S

(C) Length of classroom ©C) =k Eﬁ&T ,

(D) None of the above (D) SUYH ¥ ¥ DI TEI

11. From the following, which one is not the 11. f=fofed & ¥ o9 o @27 v 1§ wmef

element of ‘guidance and counselling’ ? PIAT AR B ?

(A) Adjustment (A) THTAS BT

(B) Orientation Gﬂ@ﬁ"{

(C) To develop emotions () ot 1 mm
(D) None of the above Eg)) 1 ¥ ¥ P T

12.  Which step is not included in Action Research? ~ 12.  fohaici eI # B 61 UG wffordt 8t 8l 27
(A) Selecting the problem (A) T & 999
(B) Generalisation of results (B) qRUTHF BT FTETRARROT
(C) Formulation of action hypoth;:ses ks ©) Fruis TRETT BT T
(D) Preparing plan to overcome the problem

(D) T B T S & fog I fAmfor

13. To wunderstand the heredity, you must 13. ’d?ﬂjﬂa'q Eal WI%F\T % fordl MUP! AMEEH ®T |
understand : GASHT B8N
(A) The law of similarity (A) GHFT BT FraE
(B) The }aw o? variation (B) R @ P
(C) The law of regression &

(D) All of the above Eg; i '\':I'Tﬁ[ frrrs

14. One of the following is not the method of  14. fr=ifeied # & Ua M wgey & fafy 78F &
educational measurement : (A) UEHR
(B) Norm-referenced Test © P
(C) Questionnaire )

(D) Observation (D)

15. What is the real carrier of hereditary traits ? 15, ﬂﬂﬁﬁ]’cﬁ Tﬁ &1 IRAAD Haed FT 8 ?
(A) Chromosomes (A) T
(B) Nucleus (B) eh
(C) Genes ©) S
(D) None of the above D) ; 38 e T8

16.  Achild is scared when he see black dog, black ~ 16.  U% I[a® @lal G, Flell fdeail @ Pret De Hl
cat and black coat. This conditioning is TEH S AT AT g 39 UBR B SRR H
involved in : fAfed 2 :

(A) Generalisation of response (A) 3@?5&1 BT AT
(B) Generalisation of stimulus (B) SENP &1 ARG
(D) None of the above D) I 5 o T
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17.  The practical method to make student understand 17. el &1 ofe7 =i &1 o wwgE @
the meaning of the difficult word is to : Taefe fafy & ¢
(A) Teatch them usage of such words in (A) T9 =T B a § GO RS G
sentences
(B) Give their antonyms (B) fAwdi 3 qet ¥ T
(C) Give their synonyms ©) quql?ji“ﬂa A
(D) None of the above (D) U # & P TE
18.  Personality of an individual is which aspect of ~ 18.  fdecy, fobel afdd & aeR &1 &9 a1 W7 & ?
his behaviour ? (A) WSS u&f
(A) COngitiVC aspect (B) ﬂ—\r_w &y
(B) Non-cognitive aspect ©) M v
(C) Intellectual aspect
(D) External aspect (D) e W
19.  As a teacher, if you want to correct the bad 19. 3®UF W & A Al 3y fhe faemf # gﬂ
habit of a student, which theory of learning ared & AT Ied &, a1 ShaTcd IIerT 9491
yotq w;ll keep in mind while planning the 9T 3 IR @ fra Rigia @ e A @
action ? Eﬁl’g“f@ Rrgid
(A) Insight Theory A) A .
(B) Trial and Error Theory (B) AN T 3% Rrgfd .
(C) Classical Conditioning Theory (C) ¥ W Rigd
(D) Field Theory (D) & Rygia
20. Why micro-teaching is important for 20. FHH—Hg YT ?@ q&w—ﬁlm T} TP 8 7
classroom communication ? (A) Tg_thqw gg
(A) To get feedback (B) fift=1 avia @ Rem gg
(B) To develop various skills (€) B T’f e g_g,
(C) To complete the lesson .
(D) To evaluate (D) el %ﬁ
21.  Thebehaviour ofateacher may be from ‘verbal’  21. ¥R ufhar ¥ Ree &1 @@er wfks @
to ‘non-verbal’ in communication process. ‘Janfessd’ TF B bl & |
(A) Itis true (A) TE & 2
(B) It is not true (B) ¥g Tad &
(C) It is partially true (C) TE T Y & a8 2
(D) None of the above (D) Tﬂ'{i?ﬁ ¥ 7 T
22.  While doing group teaching, out of the 22. WHRFG-REW Fxa Wy el @ afwma
following, which method you will apply to IR 3 GERH eq fAmfefed & & o o4
solve individualized problems of each student? & ARy o7 ganT P ?
(A) Lecture (A) IO
(B) Programmed Instruction
(C) Tutorial (B) Ml Srgeer
(D) Demonstration ©) W
(D) We¥H
23. thile assigningh a ‘ﬁ)roﬁct 1work’kto the 23.  BHE & IRIGT PR A GG TS e B
students, a teacher should always keep in ; ;
mind that it must have : g P EHRI A & RG Ae f g
(A) Educational purpose (A) m:[ s & )
(B) Relation with real life situations (B) WdY drfdd oitgd & aRRefcl & &
(C) Learning by activity (C) W fopam g1 @
(D) All of the above (D) G'Q'{i?ﬁ T
24. E.!i‘g)ht lt{)_ E[;jtu:atfi‘:n Act‘:l 2009 hais a prov&siontfor : 24.  fmm @1 feR AW 2000 # yUE §
ight to free and compulsory education . :
. : (A) Fged va sfard Ruem & afoeR
(B) :Loﬂ ;nental and physical punishment to (B) T @ TORF T ARG UE 37 P
(C) Arrangement for protection of child rights (C) 91 ARBRI & TR B FTwRT
(D) All of the above (D) a-qzj?ﬁ T
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25. “It is wholehearted purposeful activity 25. “Jg GMifoie qramaRer ¥ mfod fFar s e
organised in social environment.” This EAELS) m‘f‘f fharpey 21" I8 S Ry
statement indicates towards which teaching P ey Ry & ik G Par & ?
method ? (A) ved
(A) Demonstration
(B) Heuristic (B) RRea
(C) Problem Solving (C) T M
(D) Project (D) Wide

26. The level of anxiety which makes student 26. f3far &7 98 WR o B & &7 & o JOR
receptive of learning is : INATE, B e
(A) No anxiety (A) R 7 g
(B) Excessive anxiety (B) Il Riar
(©) Normgl anxiety _ o ‘ © Riar
(D) Learning has no relationship with anxiety D) R ( ) 1 B @ B ieeT 78 2

27.  Inteam teaching, a team of : 27. 3 R d <q g
(A) Teachers, who prepare the teaching plan (A) =P F, W T P B TR W

and implement it P! Faraa &var 2
(B) Students, who prepare the teaching plan (B) B @1, & R Jror @ IR I} Iua
and implement it BraTagT @ &
(C) Teachers and students, who prepare the (C) AF @ B B, @ R e @
teaching plan and implement it B et S P ' o 3
(D) None of the above : :
(D) SWYH # | P Tl

28.  Personality traits of Mesomorphic individuals  28. @R IRIRG @1 aof Afdd § I A

T e o1 R &
(A) Traditional and (siocia] (A) TERMETE T qfod
(B) Peace loving and solitary gt

(C) Energetic and angry (B) %ﬁﬂw i
(D) None of the above © Q‘q’ ,
(D) S%w ¥ 4 P T

29. Teaching strategy is a : 29.  fmor g Il g
(A) Plan to achieve objectives (A) eI BT UG PR BT IOl
(B) Method OfteaChiﬂg (B) ﬁm:ru'r aﬁ ﬁm
(C) Extra activity in the class JRRES
(D) None of the above EIC))) EB&?T;I ¥ m?g

30. ‘Known to unknown’isa: 30. 'S 9 IS0 D IR 8, TS
(A) Teaching Method (A) Rreor fofy
(B) Teaching Maxim (B) Ryor 5!

(C) Teaching Technique ©) e
(D) Teaching Device (D) fwET Hﬁﬁ

31. The brightness or dullness of any colour  31. [l &7 &1 95 T Gereid P qRY & :
means with : (A) & Eef
(B) Value ©) =
(C) Colour D) 2
(D) Chroma

32. In infant development from ‘near to far’ is  32. IUERN # de ¥ R A IR 8 a1 Adw
called : HEA © -

(A) Proximodistal (A) TR
(B) Longitudinal FIT'ﬁE'!]]%WU
(C) Horizontal Eg; Eﬁfﬁﬁﬁ
(D) Cephalocaudal (D) SR
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33.  After oxidation of protein, it yields : 33. 0N B AP B Forgwy U BidT §
(A) Carbon Dioxide + Water + Heat (A) BTET TS IMFZS + I + S
(B) Oxygen + Water + Heat (B) RIS + Wl + &S
(C) Carbon Dioxide + Water + Urea T qﬁm
(D) Oxygen + Water + Urea 8 5 gﬁ;: Iaa! $+§ z;ﬁj:[ *
34. According to ‘Pigment Colour Theory’, 34. <wavii RigrT & IR, wrRifA® 91 8 :
primary colours are : (A) e, T TG el
(A) Red, Purple & Blue B) b, e 1 g
(B) Yellow, Blue & Green ' :
(C) Red, Yellow & Green ©) $ E q—d g"TTST'&lT
(D) Red, Yellow & Blue (D) irel, HielT T
35. What should be the approximate temperature 35. 'S= dN o9 99 fafr g ¥ @l
for pasteurization of milk during ‘High PR D AT T R TR BT ARy ?
Temperature Short Time Method’ ? (A) 62°C '
(A) 62°C o
(B) 143°C () 230+
(G 72°C {C) 12°C
(D) 162°C (D) 162°C
36. Which substance is used as a starching agent ~ 36. ¥H! 91 ¥ fobey vewR! &1 S TRT FWET £7?
for silk clothes ? (A) HeT
(A) Refined flour (B) e
(B) Gum
C
(C) Sago (D) ; i?
(D) Arrowroot (D)
37.  Psychoanalytical theory was proposed by : 37. HAfavemvTHS g wwaifad foar o
(A) Erik Erikson (A) 3IR® 3RHTH
(B) Spearman (B)
(C) Jean Piaget
(D) Sigmund Freud Eg’) r’ﬁ:"ﬁ R
38.  “Chain stitch’ is a type of : 3. WRT W@ UBR B ¢
(A) Hemming stitch (A) g'\rq]g D TID &
(B) Temporary stitch (B) ﬁ 0 m Eﬁ$ G2l
(C) Decorative stitch (C) T HE BT
(D) Permanent stitch <
(D) wId &d &
39. Which of the following is not a ‘speech  39. fy=fofag § ¥ anft Rer w7 78 & ?
disorder’ ? (A) g
(A) Lisping (B) IRIE TR
(B) Slurring
(C) Sluttering (g) mgaia”
(D) Speaking less (D) ¥ areE
40. In which year “Prevention of Food 40. “@rafarae fvy sffras fova af & o ga?
Adulteration Act” passed ? (A) 195030
(A) 1950 A.D. (B) 1960 %0
EB) 1960 A.D. (C) 195430
C) 1954 AD.
(D) 1964 A.D. A 10 .
41. Eating disorder characterized by self 41. f{hyREwn § @F ge eR, e w@d @
starvation in adolescence is : T ferreRar” o 8 FEdar g ¢
(B) Anorexia Nervosa
(C) Obesity (B) Qrig ﬁ? a;'“ e
(D) Overweight Eg)) et
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42.  Which is the nutrition deficiency disease from  42. fy=foiRad & |4 @9 91 UUENT § GwiAd
the following ? AJTE?
(A) Influenza W’ :
(B) Bronchitis (A) SiprEied
(C) Anaemia (B) f
(D) Malaria ©)
(D) iR
43. Which is not main account to deposit money 43, §% ¥ €9 O B BT DF AT TqE gl T g ?
in the bank ? (A) dTe] @l
(A) Current Account (B) ﬁ'ﬁ-—qa m SCIREIGH
(B) Fixed Deposit Account (C) I @l
(C) Saving Account
(D) National Saving Account (D) ?Tgfm o |t
44.  Function(s) of UNICEEF is/are : 44, qﬁﬁfb“ » e /%
(A) Universal Immunization (A) e ShrHe,
(B) Primary Health Care (B) Urife wreg SRGTS
(C) Child Development and Nutrition (C) el R @ oy
(D) All of the above D) i o
45. Which year is declared as ‘Women 45. &N W a¥ ‘mfgen wufde<er ¥ @iffg fE
Empowerment Year’ ? T ?
(A) 2001 A.D. (A) 2001 -&‘0
(B) 2002 A.D. (B) 2002 %0
(C) 2003 A.D. C) 2003 %0
(D) 2004 A.D. ED)) =t
46. Cooking by boiling haemoglobin of meat is ~ 46.  JaTIBY THM W YT HT BFFCAG T &I ATl
destroyed, due to this its colour becomes : 2, 39 R ¥ 9 T & W8
(B) Red to white (B) o 3 w0
(C) Red to brown ©) 2 o
(D) None of the above |
(D) SUH # ¥ P 7L
47.  The mineral, which affects the functioning of ~ 47.  2ERigs U~ & fpareiierar &1 waifad &= are
thyroid gland is ICIEm
(B) Iodine AT
(C) Phosphorus (B) R
(D) Sodium 8 :
48.  Which country is called “Motherland of Silk” ? ~ 48. XM I F=mfA’ e <7 BT FeT oa 8 ?
(A) China (A) 99 @I
(C) Japan (C) WA T
(D) Nepal D) qra &y
49. The unit, in which intensity of sound is 49. w@fy P faar B AU D IFE € -
measured : (A) sHEd
(B) Calorie ©) @
(C) Joule
(D) Newton (D) e
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50.  ‘Tetany’ is a symptom of : 50. e Us @ §
(A) Calcium deficiency (A) Dfezra™ 3T HH BT
(B) Protein deficiency (B) W & A BT
(C) Vitamin ‘A’ deficiency Pt o
(D) None of the above E[C); : qqﬁa;[\;j%ﬁ
51.  The fibre, that burns with the peculiar smellof ~ 51. 98 ], O STeld 69U a1 & Sei oidl 79 <ol &
burning hair is : (A) fomH
(A) Linen B C3]
(B) Pure Wool EC; g:?q
(C) Rayon (D) HUH
(D) Cotton
52.  Which is not the psychological treatment for 52. 9 IR @ ford g W B G FAdEG
Jjuvenile delinquency ? JIUGR TEf & ?
(A) Mental Therapy (A) TARS Rt
(B) Play Therapy (B) g1 SR
(C) Finger Painting Therapy ke R o
(D) Psycho—Drama Therapy Eg)) Wa Tl o B
53.  The stage between childhood and adulthood is:  53.  qTcUTawel U9 UIGaRel @ Heq &) 7GRN &
(A) Infancy (A) SR
(B) Adolescence (B) fareirmawen
(C) Embryonic Stage C
(D) Old age ED; L
54.  The second stage of ‘family life cycle’ is : 54. ‘uiRaR® oNew T & Gy aawrr & :
(A) Establishing stage (A) I 3Fawel
(B) Contracting stage (B) Wi awer
(C) Retirement stage ﬁaﬁqﬁa er
(D) Expanding stage El(;; A
55.  ‘Day-dreaming’ is specially related to which ~ 55. ‘Ra—vawr 9w v ¥ b e ¥ gy &2
stage ? (A) T 9 arawen
(A) Puberty stiige (B) AR Tcarawe
(B) Early childhood stage (C) drrarwer
(C) Infancy stage
(D) Adulthood stage (D) Srgraer
56.  The solvent used in dry cleaning is : 56. Y% Yolig 4 YART fBar S aren faemas ©
(A) Potassium Permanganate (A) URRrm Wi
(B) Hydrogen Peroxide B EE?IFFT (RS
(C) Carbon Tetra Chloride EC; e 2T FONES
(D) Oxalic Acid D) R 8
57.  Wool is a protein fibre, the name of protein 57. @9 URH gad = % 9 ¥ I @F 9t UeH
present in wool is known as : AT E
(A) Fibrin A) GERA
(B) Keratin EB; Sy
(C) Ceresin R
(D) Fibrinogen Eg; B3
58. The name of silk worm which is found on 58. w%gmwwﬁaﬁm@rmaﬁﬁémw%
mulberry tree is : (A) T=RT Q!
(A) Anthraea pernyi (B) o diea
(B) Lady beetal (C) m E?IEET
(C) Black beetal Frelrr
(D) Bombyx mori () e
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59. “Development is that direction, which is  59. “fiFw @& T g W yfodw iReds & w9 H
continuously revealed in individual in the Tfm § AR yde B 8 o g8 wfadd
form of improving changes. This occurs in all gRad ot 4 afeg d EUIGI) ¥ oAb} UgrawRn
individuals from their embryonic stage to old I o & 3R ey 7= o fga § W@ 2
age.” This statement is given by : T8 T TR BT AUCUE B ¥ quT SHaT gNe
(A) English I W B 81 T8 e faa mar
(B) Hurlock (A) T Em
(C) James Drever (B) &&ll® gNI
(D) Munro (€) % IR EN

(D) T &

60. Vitamin ‘C’ deficiency leads to this disease : 60. faofm & @ o6 & I8 T e 8
(A) Beri-Beri (A) -9
(C) Rickets sl
(D) Scurvy Eg; ﬁ ﬁ@;ﬁ

61.  Which is the body building nutrient among the ~ 61.  FifeRad # & @ &1 MR Fwvrs dhvs ea @ ?
following ? (A) BEEESC
(A) Carbohydrate (B) N \G]

(B) Protein (C) T
() =l (D) R
(D) Vitamin

62. The quality/qualities of a good communicator 62. TP IS TIARSG &I T 8/ o o
is/are : (A) IR HEGH FT A
(A) Knowledge of communication channels (B) TR FA
(B) Well behaved (C) fiwa @ T’f T
(C) Thorough knowledge of subject (D) Wfi?ﬁ e
(D) All of the above

63. The main objective of this programme is to 63. 39 IRBA BT = W 06T T & qedl &
enhance the health status of children of 0-6 TRy wR H FEIR Al 2
age:group ¢ (A) I0IROATZ0
E‘g; i'g'g‘s (B) 3mE0¥0S10TH0
(C) LRD.P. (C) 3MROSROSI0vH0
(D) D.W.CRA. (D) Sl0S=HOHI0NROY0

64. Which of the following is not a principle of 64, frfoiad § ¥ ai w1 Romgw &1 figra 78 2 ?
design ? <hEIn]

(A) gProportion i .
(B) Balance (B) E, qel
(C) Colour (9L
(D) Rhythm (D) <

65. Which social ability, children learn through ~ 65. WMIN® JIER @ §RT ATAS (b AAIGS Ardal
social behaviours ? &) dragar g ?

(A) To behave according to social acceptance (A) IS WHRd & TR AIER AT
(B) Social regression (B) Wi SR

(C) Authoritarian behaviour g,{m TR

(D) Social participation Eg)) e

66. Which nutrient is increased maximum by  66. @RV gRT HioM # f&w difes d@ @ A
germination of food ? Haifed dedl & 7
(A) Vitamin ‘A’ (A) fefE v
(B) Vitamin ‘K’ B) Rl 3
(C) Vitamin ‘C’ e
(D) Vitamin ‘E’ () facit

(D) feerf §
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67. In the formation of wool fibres, middle layer ~ 67. &Y W & W@ ¥ 964 R HEd &
is known as : (A) B
(A) Cortex (B) m:]’
(B) Carbon W
(C) Medulla © %‘\ﬁﬁ’f
(D) Carotene (D)
68.  The most unsafe cheque for a person is : 68. TP Afad & ford HaW SRR AP Bar &
(A) Travellers cheque (A) TE TP
(B) Cross cheque (B) Ya@ited A%
(C) Bearer cheque
(D) None of the above Eg)) gf;i?ﬁ TR T
69.  Which of the following is not an artificial fibre? ~ 69.  fyforiad § & & BB g 781 & ?
(A) Rayon (A) OH
(B) Dacron (B) m
(C) Polyester iU
(D) Hemp gg)) e
70.  The formula for calculating B.M.L. is : 70.  §l0THONTEO I T &G G &
Eg} vvge%glﬁt %Eg; 5geigﬁt2((MN;r-}) (A) R () / $ar (Ho)
eight (Kg) / Height? (Mtr. o
(C) Height (Mtr.) / Weight? (Kg) @) ¥R (W) / S (o)
(D) Height (Mtr.) / Weight (Kg) (©) T (o) / W (Reamo)
(D) 48 (o) / R (o)
71.  ‘Consumer Protection Act’ was passed in : 71, Sy Ave e ol fear
(A) 1986 A.D. (A) 1986 30
© 1988 AD. )’ do7e
(D) 1978 AD. 8 :ggg gg
72. Which one of the following is a community ~ 72. fA=ifeled 4 & wres gRm s d & ?
facility ? (A) aqﬁqf%[
(A) Attitude (B) Une 3w
(B) Post Office ©
(C) House D) &
(D) Money (D)
73.  Generally by the end of two and half years of ~ 73. ¥ ¥ @ 3] & 3ict T e & AR Ial
age, child has temporary teeth : DI G IH IR W Bl 2
(A) 20 (A) 20
(B) 16 (B) 16
©) 24 (C) 24
(D) 18 (D) 18
74.  Growth refers to which type of changes ? 74. 9§ &1 3 59 yER @ oRadA § & ?
(A) Qualitative (A) TUIHS
(B) Quantitative (B) TS / FATHS
(C) Definite ©) i
(D) None of the above D) GTT{FH ¥4 B
75.  Potassium permanganate is used for : 75.  URCRmW wiHT &1y fhar o @
(A) Purify water (A) THI B g A B forg
(C) Purify oil ©) @ T 7 B e
(D) Purify honey (D) 7T B = % B R
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76.  Which of the following Vitamin is destroyed 76. @M dren Qe fhw faeiE @ T B g7

by baking powder ? (A) faerfm &

(B) Vitamin ‘C’ ,

(C) Vitamin ‘D’ (g) wéﬁaa i ﬁg ¢
(D) None of the above (D)

77.  ‘Subject’ related to population data is called : 77.  wEET M6 e RNy FEe 8
(A) Sonography (A) EHERITH
EB) Dir?ogravhy (B) SHTEH
C) Bibliography ©) RrgaTRl
(D) None of the above :

(D) SUgH # § IIg &

78, Who said this “Roominess refers to the effect ~ 78. 7% foe @el @ ‘W A B FH WM BT
produced by deriving the maximum benefits SRFHTH IR FA § O Y9d IS B 2
from the minimum dimensions of a room.” ? oLl el R ?

(A) Sane A) T

(B) R.S. Deshpandey B) GTROTE0 TS

(C) Elizabeth Beveridge (B)

(D) Ruth Martin (C) Yferamey qaRst
(D) & e

79.  ‘Metanil yellow’ is used as an adulterant in : 79. Premad vert @ WU # W det 1 I 9@
(A) Red Chilli Powder o ST &

(B) Pulses (A) @t i TeeR &

(C) Mustard oil (B) e &

(D) Honey (©) wEl B 9 A
(D) wEe #

80. When black colour is added to any colour, 80. o9 Bl ¥ @I [l oy W A fAemn S 3
then it is called ? ar I Ped ¢
(A) Chroma (A) BT
(B) Tint
(C) Colour value i’ fewe 3?1
(D) Shade Eg)) %W::

81. In which type of account, interest is not given ~ 81. frafefag ¥ ¥ 59 UOR @ @1 ¥, §6 AW
by bank ? T e e ?

(A) Saving Account (A) ¥9d @

(B) Current Account

(C) Fixed Deposit Account (&) %:ﬁﬂ s

(D) Cumulative Time Deposit Account Eg)) e 3 ;ﬁm $

82. K\.avashiorkor and Marasmus are associated 82. FEEIRY T AR [ Y TRl §
with : (A) Al B TA;M
(A) Insanitary conditions (B) T{[ T Oeor
(B) Total under nutrition ©) NF—Fat HaT
(C) Protein—energy malnutrition . =
(D) Vitamin ‘C’ deficiency D) Yl

83. Id, Ego and Super Ego are the part of : 83. d¢s, M TGN TN 9o AT & -

(A) Intelligence Quotient (A) tgﬁ; ey
(B) Personality (B) &
(C) Social Development (©) Tt R
(D) Motor Development
(D) TAEE B
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84.  Anaemia is caused due to the deficiency of  84. &9 UG dcg & FAI U GaToqadr &t & ?
which nutrient ? (A) % ad
ES)) ;fon _ (B) WM
rotein
(C) Fat (g) ol
(D) Carbohydrate (D) P
85.  According to Jean Piaget, the first stage of ~ 85. Ui Ui & SR, 9 & e @ v sEwr
cognitive development is : (A) T4 HfhaTd 3Rl
(A) Pre-Operational State B) T‘, e e
(B) Concrete Operation State TIRE T
(C) Formal Operational Stage © :
(D) Sensory Motor Stage (D) T TS SFawer
86.  pH 7.0 means that the food article’s nature is: ~ 86. pH 7.0 @I 3¢ & — gy TeRf P PR & -
(A) Basic (A) &R
(B) Neutral (B) SeriE
(C) Acidic ©) i
(D) None of the above D) t{ﬂ'{j?ﬁ ¥ 9 B
87.  Water, normally boils at a temperature of : 87. UM, UMY ®Y H Sl & ¢
(A) 100°C (A) 100°C TUHN TR
(g) ggg (B) 150°C d9HH )
e (C) 135°C AWM R
(D) 160°C d9AE W®
88.  The symptoms of Anaemia are : 88.  XaTEdl T B T &
(A) Shortness of breath and headache (A) |9 Bl 9 RR 35
(B) Paleness of skin, nails & eyes (B) @I, AT @ affat % e
(C) Physical weakness & fatigue () TRRT AN T IFH
(D) All of the above D) G'El'{i?ﬁ T
89.  The full form of F.P.O. s : 89.  ywodiosiio BT QR AH &
(A) Fruit Products Organisation (A) %c WredcH AFAgeTH
(B; ﬁoog Pric:la Ordg)rd (B) € U™ 3SR
(C) Food Products Order s .
(D) Fruit Products Order 8 E “}'g <Y ;‘g
90.  The cause of AIDS is : 90. USH & HRV § :
(A) Amoeba (A) T
(B) Virus (B) arR™
(C) Fungi (© Hhal
(D) Bacteria (D) aﬁéﬁm
91. Milk does not provide which of the following ~ 91.  Fr=fafed # & @19 &1 Wve 79 g & wra &
nutrient ? gaT g ?
(A) Protein (A) WA
(B) Carbohydrate (B) WHT%‘E%E
(C) TIron (C) A
(D) Vitamin ‘B’ D) R 4
92.  Process of Ironing of fabric on large scale is ~ 92. 98 I4M W a6 W S = 31 UFHaT FEad!
called : g7
(A) Tentering (A) cvefhr
% Dapping (B)
catling O
(D) Calendering Eg)) g Eela' ﬁ[
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93.  Menopause in woman of middle age is due to 93.  wegTgw # Afgera # Wﬂ'ﬁqﬁf foe gl & f
low level of which hormone ? W B SR BT 8 ?
(A) Testosterone (A) TR
(B) Adrenin (B) Qf;ﬁq
(C) Estrogen (C) TEIoH
(D) Thysoxine (D) orRifR
94. ‘Ramie’ is a type of : 94, W TP YBR I ¢ :
(A) Vegetable fibre (A) TS XEm
(B) Mineral fibre (B) @t wam
(C) Artificial fibre (C) B ¥
(D) Animal fibre (D) R e
95. The ‘AGMARK’’ certification of any product 95. fdl I & ‘THG YEiER | ST @
assures the consumer regarding : 39 9N H T Terdm § ¢
(A) Correct selling price (A) W 45T 49 &
(B) Correct weight (B) W& WR &I
(C) Correct physical and chemical product (€) WMF Td TEERE T ¥ 9 IA B
(D) All of the above (D) G'El'{rﬁﬁ e
96. What do we add to cotton linters to make  96. @HUW @I ufedl ¥ F1 e § TRLRAAN BT
nitrocellulose ? fomfor grar 8 ?
(A) H2SO4 and Ether (A) H2SO43R R
(B) HNO; and Ether (B) HNO: 3R &R
(C) H2S04 and HNO3 (C) sto4aﬂ-\r I‘IN03
97.  Which means is common for all ? 97. BN W UNA WD UG UF GHE & ?
(A) Energy (A) St
(B) Knowledge (B) s
(C) Time (C) wwg
(D) All of the above (D) Gﬂ'{fﬂ? T
98.  The treatment of diabetic is possible through : 98. H“-ﬁE’ ¥ fifsa At o1 SUER GRE §
(A) Balanced diet (A) Hgferd AER gRI
(B) Regular exercise (B) fafia amm g
(C) Insulin C) $fM gn
(D) All of the above ED)) G'mjjﬁ T
99. Yellow coloured substance secreted with 99. RR-%= & T a€ 4 & @ & 9 v
mother’s milk just after child-birth is : qrerr Grar gere #
(A) Protein (A) WS
(B) Cholesterol (B) Progra
(C) Colostrum C) PrargH
(D) Fat ED)) i
100. From the following which turns milk into  100. fiferRad & ¥ fbdd HRUT gy, <& # qqeiar & 2
yoghurt ? (A) 1@6[
(A) Glucose (B) Cel|
(B) Lactose e
(C) Galactose ©
(D) Sucrose (D) i
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@ gfr R 1F ol T § Fe WER A oRfTar ardt &, o sk ook & A g

If there is any mis-match in Hindi & English version, then english version will be acceptable.

T 3aq SN IR-TE T BT I W & fre 3 | S0TH0NN0 SR T Fe-gRaaT T I
aaifod B 7 a7 AR 7 & & R A e W k| 78 A e v 9 b v AR sifea fear @ e @
ﬁ%wwmmmﬁﬁmmﬁ&ﬁmmmﬂmmwm%lsﬂmaﬁ
PRI B R D 3P e S |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

& grear 1 (Rough work) FE YRaan # & foar W |

Rough work is to be done in the Question booklet only.

T g o 3 IR ¥ I TR Row 3 AR @ & g0 @ B TaR W T 9 9t R T g 1 9w
M T P frg a1 1 o7 dfag e Y T I A WG|

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

TR ¢ AT SO e fwa @ 9e W 41 56 UAR €

Example: Suppose Q.No. 41 of the subject is as below:

Q.No.41:  What type of mixture is smoke ? gaft e y@R 1 fsor 8 2
(A) Solid mixed with a gas A)  fafdm o
(B) Gas mixed with a gas (B) iy i i
(C) Liquid mixed with a gas (€) v fif¥m =@
(D) Gas mixed with a liquid and a solid (D) %a vd 3 fafdm

e s JTER T T B e S/ fawea (D)%,aﬁw—mﬁsﬁwmﬁwﬂﬁﬁw—aﬁaﬁmm‘m
4 B g B T IR W
If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

Tera fafr

Correct method Wrong method

OO

(uﬁ.*naaﬁﬁ@rﬁfmﬁmﬁﬁﬁé%mw%ﬁﬁm%wﬁ%aﬁﬁfﬁ%mmwm
Y STHT W 3% FOHD B R )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T i @ RIY ¥ Y TR @ I 2 B AR 9% 58 we-gRaer § @ wW s 79 e eyt semr
mﬁéaﬁsﬂaﬁwgﬁmﬁﬁﬁaﬁimﬂmwmﬁﬁwwm‘gﬁ%ﬁwmmﬂ
The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

B g ¥ s T Ay dewaTy aU A1 SRR A O A B, YR g @ w a3 2

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

=9 T ¥ HOE 36 FT WA | FP Teid SR B AY v 36 Fren TR
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.
) s T D A W AW AR TR A T A O 35 B W & | g A T SR B AR v 3D Ber T
On giving of two or more than two answer for every question, % mark will be deducted.
3. 39 FE-GRa@ ¥ I IgFHe IR Fer IR (Rough Work) @ afoRew 5o 7 ford |
Do not write anything except the Roll Number and rough work in this Question booklet.
s TRE GHRT B UET OMR €T B W B D W A B dR-dR TS wderedt iy B ol e W
& et e e W T St 9 o s o v FE |
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.



